AP Statistics Answers to Ch 2 Review
1. a)  Since it is given that the data is normally distributed, 

About 68% of the students spent between 33 and 57 minutes on HW
About 95% of the students spent between 21 and 69 minutes on HW
About 99.7% of the students spent between 9 and 81 minutes on HW
b) .1056

c) .1056

d) 31.99%

e) 64.74 or more minutes

f) 57.44 minutes

g) 99.37th percentile

h) 53.16 minutes (Look up .75 in the middle of the chart to find the z-score to plug into the formula for z-score)

2.  
a)  Yes, the area under the curve is 1. (Must show this in a picture)

b)  5/16 


c)  0

3. A normal distribution is bell shaped, single peaked, falls off evenly in the tails, follows the Empirical Rule, can be described only by its center and spread (mean and standard deviation)

4. The z-scores that represent the middle 80% are -1.28 < z < 1.28 (Look up .9 on the inside of the chart –draw the picture and you’ll see why- and get 1.28)  

5. About 206 or higher  (Look up .80 in the middle of the chart and find that corresponds to z = 0.84)

6. Put both answers in terms of z-scores or both answers in terms of time.  Jillian ran 1.92 standard deviations below the mean so JENNY (2.1 standard deviation below the mean) ran faster because Jenny’s z-score is LOWER than Jillian’s z-score. (Lower than the mean = faster)

7. C (Look up 0.4 in the MIDDLE of the z-chart and that gives a z-score of about -.025)

8. B

9. C

a. 24.6 months
b.  About 0.2266.

